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THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIERNCES
DEPARTMENT OF ANIMAL SCIENCE
2019 END OF THE YEAR FINAL EXAMINATIONS
AGA 3212 — APPLIED ANIMAL NUTRITION

INSTRUCTIONS
Answer any five questions from the six provided.

Write your answers for each section in a different answer booklet
ANl question carry equal marks (20 Marks each)

SECTION A - FEED CLASSIFICATION

QUESTION 1

(i) Define the term ‘roughages’ as used in livestock feeding. Give an outline of how they
(roughages) are classified. (10
Marks)

(ii) What are feed additives? For any three (3) classes of feed additives that you know give an
example and explain how that particular additive is able to achieve the specific purpose that

it is included in the ration. (10 Marks)
QUESTION 2
@) Fish meal is known to be a good source of protein. However it is not much used in Zambian

stock feeds, and when used it may be used in restricted amounts. Discuss briefly the reasons
that you consider to be the main contributing factors to this state of affairs. (10 Marks)

(ii) Explain why maize and soybean meal are the most used energy and protein sources in
livestock feed, respectively. (10 Marks)



SECTION B - RATION FORMULATION FOR MONOGASTRICS

QUESTION 3

(a)

Formulate a 100kg complete broiler grower ration with 20% CP, 0.5% Ca, and 0.65% P.
using the ingredients shown in Table 1. In your formulation, the Maize bran, fish meal, salt.
broiler premix and Zinc bacitracin should be fixed at 5, 6, 0.5, 0.35, and 0.01%,

respectively. Also, the full fat soybean meal (FF-SBM) and low fat soybean meal (LF-SBM)

should be in a 9:1 ratio in the ration. (16
Marks)
Table 1: Nutrient composition (g/kg DM) in feed ingredients used in the formulation for broiler
grower.
Ingredient Protein Calcium Phosphorus Crude fiber
Maize 88 0.5 2.7 22
Wheat bran 154 0.13 113 100
Low fat -SBM 390 2.6 6.1 31
Fish meal 701 22 1.7 10
Full fat - SBM 450 2.4 5.7 28
DCP 0 240 182 0
Limestone flour 0 371.1 0 0
Salt 0 0 0 0
Broiler premix 0 0 0 0
Zinc bacitracin 0 0 0 0
(b) Calculate the total crude fibre content of your feed (4 Marks)
QUESTION 4
@) Using the Pearson square method, formulate a concentrate mixture for goats to have 18%

digestible crude protein (dCP) and 74% total digestible nutrients (TDN). The ingredients to
use are maize meal, Rhodes grass hay, and cotton seed meal. The composition of the
mentioned ingredients is as given in the Table below. (14 Marks)

Table 2: Nutrient composition (%) in feed ingredients used in the formulation of the concentrate

mixture for goats.

Ingredient TDN% dCP% Calcium (%) | Phosphorus (%)
Maize meal 84 8.8 0.03 0.26
Rhodes grass Hay 56 6.4 0.04 0.34
Cotton seed meal 68.8 40.9 0.20 1.05

(ii) How much Calcium and Phosphorus does the ration you have formulated contain? (6 Marks)



SECTION C - RATION FORMULATION FOR RUMINANTS

QUESTION 5

Assume you have a herd of beef cattle consisting of a bull, 2 oxen, 6 nursing cows, 7 dry

A)
cows, 5 two-year old replacement heifers, 7 one-year old replace heifers and 6 calves. If a bull
is equivalent to 1.2, an oxen to 1.4, a cow to 1.0, a 2-year old heifer to 0.7, a I-year old
replacement heifer to 0.5 and a calf under 1 year to 0.3 livestock units (LU), how many
livestock units are in the above mentioned herd? You are then supposed to prepare for a 5-
months dry season feeding period by producing and buying fodder for the animals. The
production of fodder is based on the crops tabulated in Table 3. How much fodder will you
expect to produce and how long is it supposed to last on the farm if the animals were
consuming 10 kg dry matter (DM) per day per Livestock Unit (LU)?

Table 3: Expected fodder production from on-farm crop and pasture production operationé.
Crop Hectares Type of Expected DM Content
fodder Yield
Maize 2.0 Stover 5 tons/ha 80%
Millet 1.5 Straw 3.5 tons/ha 78%
Rice 23 Straw 3 tons/ha 72%
Star grass 2.5 Hay 5 tons/ha 67%
Siratro 2.0 Hay 4 tons/ha 70%
Lucerne 2.5 Hay 3 tons/ha 60%

B) If you have to buy 5:1grass to legume hay mixture to take the animals through the dry season.
How much grass and legume hay are you supposed to buy if the grass and legume hays each
contain 60 and 55%DM. What is the TDN and dCP concentration on as fed basis in the grass
and legume hay mixture assuming the grass had 660 g TDN and 80 g dCP per kg DM; while
the legume had530 g TDN and 115 g dCP per kg DM.

QUESTION 6

A). Assume you have a 400kg Jersey dairy cow that is producing milk with 4.5% butter fat

content and the animal depends on a natural grass that contains 32% dry matter (DM)with a
total digestible nutrient (TDN)concentration of 650g and a digestible crude protein (dCP)
content of 90g per kg dry matter. If the cow consumes 2.5% of its body weight as DM feed
intake each day, how much of this natural grass is this animal expected to eat each day when
expressed on as fed basis? What is the energy (TDN) and digestible crude protein (dCP)
concentrations in the natural grass when expressed on as fed basis? How much milk per day is
this animal expected to produce by consuming the allocated natural grass? The nutrient
requirements for the cow are as tabulated in Table 4 (12 Marks).



B).

Table 4: Nutrient requirements for maintenance and milk production in dairy caws

Maintenance requirements per day | Milk production requirements per litre
Weight TDN (g) | dCP (g) Butter fat TDN (g) |dCP (g)
(kg) : (%)
350 3400 270 3.5 415 51
400 3700 290 4.0 470 56
450 4300 310 4.5 530 63

Using the deviation method, formulate a 130 g/kg protein concentrate mixture using Maize
bran, Wheat brain and full fat soya. The concentrate mixture should also have 1% Limestone,
1% Di-calcium Phosphate, 0.5% Salt and 0.5% Micro mineral and Vitamin premix. What are
the energy, calcium and phosphorus contents in the concentrate mixture? How much of this
mixture is the animal in Question 6A supposed to eat for it to increase milk production
to 8 litres per day? The nutrient content for ingredients required for concentrate mixture are
given in Table 5 (8 Marks).

Table 5: Nutrient composition of feed ingredients for the dairy concentrate

Ingredient TDN (g/kg) | dCP (g/kg) | Calcium (%) | Phosphorus (%)
Maize bran 810 84 0.3 0.25
Wheat bran 785 104 0.4 0.35
Full fat soya 855 284 0.5 0.65
Limestone 0.0 0.0 38 0.0
Di-calcium Phosphate 0.0 0.0 24.0 16.0
Vitamin/mineral premix 0.0 0.0 0.0 0.0




UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
AGE 5241: PRINCIPLES OF FARM MANAGEMENT
| 2018/2019 DEFFERED EXAMINATIONS
INSTRUCTIONS:

ANSWER ALL FIVE (5) QUESTIONS
TIME: THREE (3) HOURS

Question one
a. What forces have caused farms to become larger in the 21* century (8 marks)

b. Explain the purpose and use of records in farm management (12 marks)

Question two
Contrast the following terms:

a. Complimentary‘ and supplementary enterprises (4 marks)

b. Accounts payable and accounts receivable (4 marks)

c. Credit and debit (4 marks)

d. Cash éccounting and accrual basis accounting (4 marks)

e. Average physical product and marginal physical product (2 marks)

f.  Enterprise budget and whole farm budget (2 marks)

Question three

a. A new machine worth K100,000 has a useful life of 10 years. Use a 200% declining balance to
compute annual depreciation for this , assuming a K10,000 salvage value. (16 marks)

b. A farmer has a debt to equity ratio of 2:1. The current liabilities are K50,000 and the non-current
(intermediate and long-term) liabilities are K70,000. What is the value of the assets? (4 marks)



Question four

a)

b)

Why is the kwacha received today much more important than the same kwacha to be received at a
future date? (4 marks)

What is the value of K60, 000 to be received ten years from today at 13% compound interest? (4
marks) :

If land is currently worth K40, 000 per hectare in Lusaka west and is expected to increase in value
at a rate of 4 % annually, what will it be worthy in 5 years. (4 marks)

What is the value of K500, 000 placed on a savings account at 20% interest rate for S years,
compounded every three months? (4 marks)

What are the advantages of using the net present value over the pay pack period in investment
analysis? (4 marks)

Question five

a.

b.

What is risk and how does it differ from uncertainty (2 marks)

In the past 10 years, maize prices per 50kg bag have been K45,000, K46,000, K46,700, K55,000,
K60,000, K62,000, K65,000, K66,000, K75,000 and K150,000. compute the '

i) average maize price (2 marks)
; ii) variance (4 marks)

. iii) coefficient of variation (2 marks)

The following table shows the decision for Mr. Nyambe to choose the number of broiler
chickens to raise. Options available are raising, 3000, 4000 and 5000 birds. According to
the ministry of Agriculture, there is an outbreak of a disease in the country that might affect
mortality rates, and there is a 40 % that his business will be affected. Predicted income
from each batch of birds under two disease incidences is as shown below.

Disease outcome | Probability | Rare 3000 birds | Rare 4000 birds | Rare S000 birds
Disease 40% | K25,000 0 -K90,000
No disease 60% | K750,000 K1,000,000 K1,250,000

i.  Setup a decision tree for this risky decision (8 marks)

ii.  Based on the most likely outcome and also based on the maximum expected
value, which strategy in each case would Mr. Nyambe choose and why? (2

- marks)




THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
2018/2019 MID-YEAR DEFERRED FINAL EXAMINATIONS

AGE 5251: AGRICULTURAL PROJECT PLANNING AND APPRAISAL
TIME: THREE HOURS ‘
INSTRUCTIONS:

i) Answer all questions
ii) Leave the discount tables in the examination hall

a) Explain why technical and economic aspects are important in project
preparation and analysis (6 marks)

b) Are projects and programmes one and the same thing? Explain. (4 marks)
c) Discuss briefly the major stages of a project cycle. (10 marks)

. a) What is the definition of a shadow price in economic analysis? (4 marks)

b) Why are shadow prices important in economic analysis? (6 marks)
c) Discuss briefly the relationship between shadow prices and opportunity
cost (OC) as well as marginal value product (MVP). (10 marks)

. The following investment outlay, operation and maintenance costs (cash

outflows) as well as gross benefits (cash inflows) are given for a paim oil
production and processing project proposal:

Amounts in
ZKW' 000

Investment Operation and | Production
Year Outlay maintenance Cost Gross Benefit
1 550 0 0 0
2 500 0 0 0
3 450 0 0 0
4 300 0 0 0
5 200 0 0 0
6 0 30 50 880
7 0 30 60 940
8 0 30 70 1000
9 0 30 80 1060
1 0 30 80 1060

a) Compute the Net Benefit-Investment (N/K) ratio if the opportunity cost of
capital is 20%. On the basis of the N/K you obtain, would you recommend the
project as good investment? Explain why? (6 marks)

b) Compute the Internal Rate of Return (IRR). On the basis of the IRR you obtain
and given 20% as the opportunity cost of capital, would you recommend the
project as good investment? Explain why? (10 marks)

c) If a 2 year delay in project implementation reduces the net present value of
the project’s benefits to ZKW+6,000 whereas a 3 year delay reduces the net
present value to ZKW-8,000, what is the magnitude (switching value) of the



project's delayed implementation before the net present value falls below
unacceptable level? Explain your answer. (4 marks)

4. The following information is given for a centre pivot to be imported into the
country: the c.i.f. price is US$120,000; the import levy is 5% of the c.i f. price;
the handling and clearing charges amount to K15, 000 and the transportation
to the project site is K5,000. The official exchange rate (OER) is ZKW11.50
to US$1 and a foreign exchange premium of 20% is estimated.

a) Calculate the economic import parity value at the farm gate or project
boundary using the conversion factor approach. (8 marks)

b) Calculate the economic import parity value at the farm gate or project
boundary using the shadow exchange rate approach. (8 marks)

c) Why is it important to allow for a foreign exchange premium when
calculating the economic import parity value? (4 marks)

5. The foreign exchange component and the domestic currency component of
a phosphate production project are as given in the following table:

Foreign Exchange Component Domestic Currency

US$ '000) Component (ZKW '000)

Value of Investment Production Investment Production

Year Production Cost Cost Cost Cost

1 0 90 0 500 0
2 0 130 0 450 0
3 0 160 0 350 0
4 200 0 100 300 140
5 450 0 250 0 170
6 550 0 350 0 170
7 700 0 400 0 170
8 700 0 400 0 170
9 700 0 400 0 170
10 700 0 400 0 170

a) If the opportunity cost of capital is 20%, compute the domestic resource cost
(DRC). If the official exchange rate (OER) is ZKW 11.50 to US$1 and on the
basis of the DRC you obtain, is the project favourable? Explain why? (10 marks)
b) If there is a foreign exchange premium of 20%, what is the shadow exchange
rate (SER)? In the light of the SER you obtain and on the basis of the DRC you
obtained in a) above, would you say the project is favourable? Explain why? (5
marks)

c) Explain why it is important to estimate the DRC and for what type of projects
it should be applied? (5 marks)

END OF EXAMINATION



THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
2018/2019 MID-YEAR DEFERRED FINAL EXAMINATIONS

AGE 5251: AGRICULTURAL PROJECT PLANNING AND APPRAISAL
TIME: THREE HOURS '
INSTRUCTIONS:

i) Answer all questions
ii) Leave the discount tables in the examination hall

1. a) Explain why technical and economic aspects are important in project

preparation and analysis (6 marks)
b) Are projects and programmes one and the same thing? Explain. (4 marks)
c¢) Discuss briefly the major stages of a project cycle. (10 marks)

. a) What is the definition of a shadow price in economic analysis? (4 marks)

b) Why are shadow prices important in economic analysis? (6 marks)
c) Discuss briefly the relationship between shadow prices and opportunity
cost (OC) as well as marginal value product (MVP). (10 marks)

. The following investment outlay, operation and maintenance costs (cash

outflows) as well as gross benefits (cash inflows) are given for a paim oil
production and processing project proposal:

Amounts in
ZKW' 000

Investment Operation and | Production
Year Outlay maintenance Cost Gross Benefit
1 550 0 0 0
2 500 0 0 0
3 450 0 0 0
4 300 0 0 0
5 200 0 0 0
6 0 30 50 880
7 0 30 60 940
8 0 30 70 1000
9 0 30 80 1060
10 0 30 80 1060

a) Compute the Net Benefit-Investment (N/K) ratio if the opportunity cost of
capital is 20%. On the basis of the N/K you obtain, would you recommend the
project as good investment? Explain why? (6 marks)

b) Compute the Internal Rate of Return (IRR). On the basis of the IRR you obtain
and given 20% as the opportunity cost of capital, would you recommend the
project as good investment? Explain why? (10 marks)

c) If a 2 year delay in project implementation reduces the net present value of
the project’s benefits to ZKW+6,000 whereas a 3 year delay reduces the net
present value to ZKW-8,000, what is the magnitude (switching value) of the



project’s delayed implementation before the net present value falls below
unacceptable level? Explain your answer. (4 marks)

4.

The following information is given for a centre pivot to be imported into the

country: the c.i.f. price is US$120,000; the import levy is 5% of the c.i f. price;

the handling and clearing charges amount to K15, 000 and the transportation

to the project site is K5,000. The official exchange rate (OER) is ZKW11.50

to US$1 and a foreign exchange premium of 20% is estimated.

a) Calculate the economic import parity value at the farm gate or project
boundary using the conversion factor approach. (8 marks)

b) Calculate the economic import parity value at the farm gate or project
boundary using the shadow exchange rate approach. (8 marks)

c) Why is it important to allow for a foreign exchange premium when
calculating the economic import parity value? (4 marks)

The foreign exchange component and the domestic currency component of
a phosphate production project are as given in the following table:

Foreign Exchange Component Domestic Currency

(US$ '000) Component (ZKW '000)

Value of Investment Production Investment Production

Year Production Cost Cost Cost Cost
1 0 90 0 500 0
2 0 130 0 450 0
3 0 160 0 350 0
4 200 0 100 300 140
5 450 0 250 0 170
6 550 0 350 0 170
7 700 0 400 0 170
8 700 0 400 0 170
9 700 0 400 0 170
10 700 0 400 0 170

a) If the opportunity cost of capital is 20%, compute the domestic resource cost
(DRC). If the official exchange rate (OER) is ZKW 11.50 to US$1 and on the
basis of the DRC you obtain, is the project favourable? Explain why? (10 marks)
b) If there is a foreign exchange premium of 20%, what is the shadow exchange
rate (SER)? In the light of the SER you obtain and on the basis of the DRC you
obtained in a) above, would you say the project is favourable? Explain why? (5
marks)

c) Explain why it is important to estimate the DRC and for what type of projects
it should be applied? (5 marks)

END OF EXAMINATION



UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
FOOD SCIENCE AND NUTRITION DEPARTMENT

2018/19 ACADEMIC DEFERRED -YEAR EXAMINATIONS

AGF 2015
FUNDAMENTALS OF ORGANIC CHEMISTRY

Date: 9™ December, 2019
Time: 9:00 Hours — 12:00 Hours
Venue: Other rooms

Duration: THREE (3) HOURS

INSTRUCTIONS TO THE CANDIDATES

THIS PAPER CARRIES 100 MARKS.

WRITE YOUR COMPUTER NUMBER ON ALL ANSWER BOOKLETS

THERE FOUR QUESTIONS IN THIS PAPER.

ATTEMPT ALL QUESTIONS. EACH QUESTION CARRIES 25 MARKS.

ANSWER EACH QUESTION IN A SEPARATE ANSWER BOOKLET.

ALLOCATED MARKS FOR EACH QUESTION ARE INDICATED IN THE BRACKETS.
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Question 1

a)

b)

Draw dash-wedge structures for all stereoisomers of 1-bromo-3-isopropylcyclohexane,
giving stereochemical details for each structure.

[2 marks]
What is the complete IUPAC name of the following substance? (give stereo-chemical

details such as R, S as relevant.)
H

1l "CQH5

HaC" B,
[8 marks]
You have a sample (Sample X) which is a mixture of +/- Carvone. The solution was made
by dissolving 4.50 g of the sample in enough methanol to bring the volume of solution to
10.0 mL. Some of the solution is placed in a 100 cm polarimeter cell and its optical
rotation is measured at 25°C using light of the sodium D line wavelength (589.6 nm). The
observed rotation is +22.2°.

1. What is the specific rotation of this sample?
[2 marks]
II.  An enantiomerically pure sample of the (S) enantiomer of Carvone has a specific
rotation of +15.5°. What is the % enantiomeric excess of Sample X.
[S marks]
HI.  What percentage of Sample X is the (S) enantiomer? What percentage of the
sample is the (R) enantiomer?
[8 marks]



Question 2

Propene, CsHe, a hydrocarbon reacts with chlorine, Clz, in a reaction that is given below.

CsHe + Cl2 — C3HeCl2
The mechanism for this reaction is described in three stages.
a) Define the term hydrocarbon.

b) Name the three stages of the mechanism of this reaction

c) For each stage named in (b) draw the mechanism of the reaction.

d) The drawing below represents two alkenes, A and B.
CH3 CH3 H CI‘I;
o= Nome’

/ N\ Vs AN

H H CH, H
A B

i.  What is the difference between compound A and B.
ii.  Name compound A and B.

e) Name one ether that you know and draw its chemical structure

f) Write the reaction of methylamine with hydrochloric acid.

[2 mark]
[6 marks]

[6 marks]

[2 marks]
[2 marks]
[3 marks]

[4 marks]



Question 3
2-chloro-2-methylbutane may bé prepared by reacting 2-methylbutan-2-ol with concentrated
hydrochloric acid:

(CH3),C(OH)CH2CH3 + HCl — (CH3)2.C(Cl)CH,CH3 + H0O

a) Draw the skeletal formula of 2-chloro-2-methylbutane.

[2 marks]
b) What type of reaction is this?

[1 mark]
¢) Write the mechanism of this reaction, showing the arrows indicating the flow of

electrons. [S marks]
d) Explain briefly how you may purify the product produced in this reaction.[11 marks]
¢) The side reaction to above reaction may produce an alkene.

i. Name the alkene produced. [1 mark]
ii. Write the mechanism for this reaction? [S marks]



Question 4
4-hydroxybutanoic acid is a naturally occurring substance found in the human central nervous
system, as well as in wine, beef and citrus fruits. 4-hydroxybutanoic acid is a sticky solid
with a melting temperature of 48—50°C.
a) About 5 g of 4-hydroxybutanoic acid was placed in a test tube and melted by heating
in a hot water bath. A small piece of sodium was added to the molten 4-
hydroxybutanoic acid.
I.  Draw the displayed formula of 4-hydroxybutanoic acid. [3 marks]
II.  How many functional groups are present in this acid and name these
functional groups. [4 marks]
b) A spatula full of 4-hydroxybutanoic acid was added to a solution of sodium
hydrogencarbonate in a test tube. Vigorous effervescence was observed.
I.  What is effervescence? [1 mark]
II.  State the test that you would use to confirm the identity of the gas formed.
Give the result of the test. [S marks]

¢) 4-hydroxybutanoic acid reacts on heating in the presence of a catalyst to form
4-butyrolactone which is used in food flavouring, and as a superglue remover. The
structure of 4-butyrolactone is given below.

LA~

(o]

4-butyrolactone
I. By considering the functional group present in 4-butyrolactone, name the

type of reaction which occurs when 4-hydroxybutanoic acid forms

4-butyrolactone. [2 marks]
II.  Why is a suitable catalyst added to this reaction? [2 marks]
a) Acetic acid has pka equal to 4.8.
III.  Calculate the ka of acetic acid? [4 marks]
IV.  What would be the effect on ka of acetic acid by a chloride atom placed at
the alpha position of acetic acid. Explain your answer. [4 marks]
END OF EXAMINATION



UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
FOOD SCIENCE AND NUTRITION DEPARTMENT

2018/19 ACADEMIC YEAR DEFERRED EXAMINATIONS

AGF 3021 |
Chemical Techniques in Food Analysis —Theory Exam

Date: 9™ December, 2019
Time: 14:00 Hours — 17:00 Hours
Venue: Sports Hall

DURATION: THREE (3) HOURS

INSTRUCTIONS TO THE CANDIDATES

I. THIS PAPER CARRIES 100 MARKS AND HAS TWO (2) SECTIONS.

2. EACH QUESTION CARRIES 25 MARKS.
3. THERE ARE FIVE (5) QUESTIONS IN THIS PAPER. ANSWER FOUR (4)

QUESTIONS. SECTION B IS COMPULSORY.
4. ANSWER EACH SECTION IN A SEPARATE ANSWER BOOKLET.
5. ALLOCATED MARKS FOR EACH QUESTION ARE INDICATED IN THE

BRACKETS.




SECTION A: [ANSWER ANY THREE (3) QUESTIONS FROM THIS SECTION]

QUESTION 1

a) In not more than five (5) lines, define and explain the following terms giving examples

where necessary.

i. Semi qualitative [2 Marks]

ii. Representative sample [2 Mark]

iii. Accuracy [2 Marks]

iv. Limit of Detection [2 Marks]

v. Non-destructive analyses [2 Marks]

b) Briefly define reliability and state its importance in analytical chemistry. Additionally, why
is the reliability of the representative sample very critical? Furthermore, briefly discuss the
relationship between reliability and the analytical method. {7 Marks]

¢) As a trained Laboratory Analyst, explain the underlying principles of the technique that
can be used to determine the ether extract of dried soybean flakes. [8 Marks]

QUESTION 2

Sampling and sample preparation are among the steps involved in an analytical process. As a newly
appointed Food Analyst in the Chemistry Laboratory, a client brought to you a 100 Kg bag of
Sunflower for Metabolizable Energy and Mineral Content determination. Discuss in detail how
you would approach this task. [25 Marks]

QUESTION 3

a)

b)

The department of Food Science and Nutrition has bought two (2) sets of equipment, that
is, an analytical weighing balance and a pH meter. During a laboratory session, the Chief
Technician in the Food Chemistry Laboratory realizes that these sets of equipment are not
properly calibrated. As a student in this department, briefly discuss how you can calibrate
this equipment. [S Marks]

List the three (3) main steps involved in a gravimetric analysis, and define a gravimetric

factor (GF). [4 Marks]

1|Page



¢) Anore is analyzed for the manganese (Mn) content by converting the manganese to Mn;O4
and weighing it. If a 1.52 g sample yields Mn3O4 weighing 0.126 g, what would be:
i.  The percent Mn203 in the sample? [4 Marks]
ii.  The percent Mn in the sample? [4 Marks]
d) How many grams of copper (I1) sulfate hexahydrate are required to prepare a solution that
has the equivalent of 0.339 g of copper dissolved? What is the percentage composition of

sulphur in the solution? [8 Marks]

QUESTION 4

In the food industry, various methods of food sample size reduction are employed. Discuss the
principles of operation of using illustrations where necessary:

i.  Rotary Rifle [12.5 Marks]

ii.  Rotating Tube Divider [12.5 Marks]

2|Page



SECTION B: [QUESTION 5 IS COMPULSORY]

QUESTION 5

a) The figure below shows a portion of a GC chromatogram for a mixture of two aromatic
compounds labelled A and B. The separation employed a 2.20 meters packed column under
isothermal conditions (90 °C) and a flow rate of 12 mL/min. The figure shows the
chromatogram in the region between 1.00 and 2.00 minutes, with the chromatograms expected
for the individual components being overlaid.

300 ©

N
*
[+]
o]

Detector Signal
o —
I

3 Unretained / A
6.0 Lot ¢ 2 x Y A A N s 2

4.0 4.1 1.2 1.3 L 4.8 1.8 4.7 “4. 8 T8
time (min)

Explain how you would improve the capacity factor? Be specific using the parameters of this
separation. [2 Marks]

Calculate the capacity factors for each peak and the selectivity factor for the separation of A and
B. [3 Marks]

b) Calculate the resolution of the two peaks. [S Marks]
¢) Compare Adsorption and Partition (Normal — Reverse Phase) Chromatography. [S Marks]

d) Heptane and toluene were separated with retention times of 15.4 and 16.5 min respectively on
a 1.0-meter packed column. An unretained species passed through the column in 1.8 min. The
peak widths measured at the base were 1.15 for heptane and 1.20 min for toluene.

i.  Calculate the resolution between the peaks. [S Marks]
ii.  Calculate the average number of plates for the column. [5 Marks]

END OF EXAMINATION
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DATE:

TIME:

THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES AGRICULTURAL
DEPARTMENT OF ECONOMICS & EXTENSION
2018/2019 ACADEMIC YEAR DEFERRED EXAMINATION
AGG 3811: RURAL SOCIOLOGY
11/12/2019 TOTAL MARKS: 100

THREE HOURS

INSTRUCTION: ANSWER ALL QUESTION. EACH QUESTION CARRIES EQUAL
MARKS

Questions

1.

As ranked authority structure a bureaucratic organisation operates according to
specific rules and procedures.
a) Define the concept bureaucracy and organisation (8 marks)
b) Using Max Weber’s model explain any four major characteristics of
bureaucracy (12 marks)

Outline and fully describe the five most common known forms of social interaction
some of which help stabilize the social structure (20 marks).

“A family is both a primary group and a basic universal institution”
a) Define the term institution
b) Explain three major functions of the family
¢) State at least two known cultural threats that current environment pose on the
Zambian families

Emile Durkheim and Karl Marx present two perspective on the discussion of social
stratification.
a) Identify and provide the meaning of each one of Karl Mark’s and Emile
Durkheim’s perspectives.
b) Briefly illustrate the differences between Karl Marx’s and Emile Durkheim’s
views on social stratification.

Using a gender perspective mention any four major agricultural development issues
that are selective and encourages gender inequalities in Zambia’s rural agricultural
development programmes (20 marks).

END OF EXAMINATION




THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES AGRICULTURAL
DEPARTMENT OF ECONOMICS & EXTENSION -
2018/2019 ACADEMIC YEAR DEFERRED EXAMINATION

AGG 3822: AGRICULTURAL EXTENSION EDUCATION

DATE: 12/12/2019 TOTAL MARKS: 100

TIME:

THREE (3) HOURS

INSTRUCTIONS: ANSWER ALL QUESTIONS

Questions

1.

Briefly discuss the theoretical importance of objectives, target groups, offering and
organization elements in the design of an extension delivery system (20 marks)

“Extension methods are commonly classified into individual, group and mass media”.
a) Define the concept extension methods (4 marks)
b) State the four major differences between group and mass extension methods (12
marks)
¢) Explain the suitability of result demonstration, lecture, and tour and learn
extension methods to learning situations (6 marks).

. In a chronological order, outline and describe the five management functions that helps in

the design and operational efficiency of an extension organization (20 marks).

With known practical examples provide meaning to the following concepts:
a) Farming Systems Research (5 marks)
b) Communication (5 marks)
¢) Unity of command (5 marks)
d) informal organization (5 marks)

Based on identified and explained “ideal types” adopter categories, indicate their
usefulness in the diffusion process (20 marks).

END OF EXAMINATION




THE UNIVERSITY OF ZAMBIA
SCHOOL OF AGRICULTURAL SCIENCES
20182019 END OF YEAR FINAL EXAMINATIONS

COURSE : AGG 3832 - FORAGE CROP PRODUCTION AND RANGE
MANAGEMENT

DATE :FRIDAY, 15 NOVEMBER 2019. 14:00 HOURS

DURATION : 3 HOURS

INSTRUCTIONS : ANSWER ANY FIVE QUESTIONS

1. a) Define an ecosystem (3 marks).
b) What are the components of an ecosystem in rangelands? ( 6 marks).
¢) Draw a diagram to show energy flow in an ecosystem (6 marks).
d) What are ecosystem goods and services? Explain and give examples (5
marks).

2. In range management it is important to carry out natural resource inventory in order
to obtain dimensional or physiological information about the resources.

a) In natural resource inventory mention the six types of plant attributes that are
commonly measured. (6 marks).

b) What is a quadrat? How is it used in vegetation assessment.? (5 marks).

c) How does the size of a quadrat affect the results in vegetation assessment? (4
marks).

d) What size of quadrat would you recommend when measuring the frequency

and the density of moringa (Moringa oleifera) and Leucaena (Leucaena
leucocephala) in a rangeland (5 marks).

3. Rangelands have been neglected for a long time in programmes concerning
agricultural development although they are very importance as sources of livelihoods
for the local people?

a) What are the characteristics of range lands? (4 marks)

b) Mention products of economic importance that can be derived from rangelands
(6 marks).

c) What are the causes of land degradation in these rangelands? (4 marks).

d) What management practices should be carried out to conserve and improve the

productivity of the rangelands? (6 marks).
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